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(1)FRL281.D FaniE2UEHIREITINRITHE
(a)FBES%

;
\

%
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NETXIE m'/min 1188.23 1,305.26 127907 133943 1,600.85 6,712.84
RGBT E m’/min 1188.23 1305.26 1279.07 133943 1,600.85 6,/12.84
M=EE % 100.0 100.0 100.0 100.0 100.0
WEINSETHE mmMAQ 4285 6054 469.0 420.7 58/.3
WEREITHE mmMAQ 160.0 1/70.0 260.0 270.0 256.0
WERMX L % 373 281 b4 64.2 436

L % 373 281 b4 64.2 436
BAREER % 220 199 46.4 392 324
TN AR % 89.0 39.0 93.0 920 91.0
FRERSHFEINER kKW 48.2 951 1091 85.9 158.5 496.8
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X ERBIXE ( m’/min ) = FIAMNZEXE

X WERBITNE (mmAg ) [REANE] = SHEXE - REXTEHNE ( £2 )

X HERMNEL (% ) ={X&EREITNE ( RENE ) + XEFEITHE] x 100

X IWEL (% ) ={HEBRBITNE ( REXE ) + KEFNETHE] x 100

X BOREER (%) ={ ( HENEREINE x RERMEL ) + FEBEFEINE] x 100

X FRERTEFEINR (KW ) = ( HEDEFEINER x WERELL ) + TINZFWE

X TiMEE R (% ) : MAXEEEPRI ( Electric Power Research Institute ) &
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s

[R5-AMERALE D Fan ERIETHIRREEELAETAE (KWh/y )

FE
1B1TAYE | BEETA=E
(kWh/y)

550 4285 160.0 324
2~4F 550 0054 1/0.0 31.8
400 469.0 260.0 484
400 420.7 270.0 49.3
550 587.3 256.0 40.9

373 482 146.8 3,/60 1285968
281 951 330.2 8/60 2892552
bb4 1091 109.6 8,/60 960,096
04.2 8b.9 15.6 8/60 1012656
430 1585 286.7 8/60 251492
- 496.8 988.9 8,760 8,662,764

i%%%j‘é i%%%ﬁ& R — 5@3'—?
TS TR ] 4] BHFE
[IMWh/£] (%] [tCO2eq/%]
8662.76 66.56 1983.77 828.16 984.00 119 170.61
(1) RS

(a) BAEM 1 95.6 ( ETT/kKWh )
(b) FEREIE(TATEFIFA T FriZEtaATE]

(2) BEETHI=
- SE[Rb-4]
=8,662,764.0(KWh/%E)
=8662.76 ( MWh/E ) x0.229 ( toe/MWh ) - toethBE ZEX
=1,983.77[toe/%]

(3) IRFEETLHE
= ( ERAETLIB[Wh/E] / SERRAERR(KWH/E] ) x 100

= (8662,764(KWh/%F) /13,014,732(kWh/%)) x 100[%]
=66.56 [%]
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(4) FETLOE
— FERERETIZIE ( KWh/E ) x BN ( #ro/kKWwh )
=8,662,/64.0(kWh/%) x 95 6(#t/KWh)
- 828.16[BAFT/F]

(5) #&ZHTH
=984.00[B1Ft]

[R5-5 %53 T2 A 2HEAZH

25 *&g B ait
- (EREx/a) | (ERET)

3183.3KV 26TKW 1 164.00 16400  SEHEMNEE
EIETHRE PNL R
e 3#83.3kV 330KW 2 190.00 38000 SEEEMNEE
= 33,3k BOOKW 2 220.00 44000  SEEEWNMEE

- 5 - 984.00 -

(6) &= MmN
- ATE (ERET ) - FESLM ( GRS/ )

=084.00 ( BR#x ) + 82816 ( BRFHT/F )
=119[#]

(7) BESEHIE
—BRHER (to/F ) x ( ZEtHATFE/HRDOFE )
=1082.85(tC/%) x (44/12)(CO2eq/C)
=3,970.45[tCO2eq/4]



